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2. Vi2=aV2,V300=bV3 Q4 W, a-b 2 ZE2?

®-2 @- ® 4 @ 6

V72 = V22 x32x2 =62
V300 = V102x3=10V3
" a=6, b=10

L a—-b=-4
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D@32 +7x+2=Bx+1)(x+2)
@x2+3x+2=(x+1)(x+2)
® 2x% +7x+6 = (2x+ 3)(x + 2)
@ x%-5x+6=(x—2)(x-3)
®2x2+3x-2=(x+2)(2x-1)




4.  12ax?® - 12axy + 3ay? & ASE|51H?

@® 12(ax - ay)? @ 6a(x—y)? ® (6ax —ay)?
@ 3a(x-y)? @3a(2x -y)?

12ax? — 12axy + 3ay? = 3a(4x> — 4xy + y?)
=3a(2x -y)?
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2 % 2Tax? — 12ay* 2 HFEA| JA+E3| g AL

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(32%ax — 4ay)? @3a(3x + 2y)(3x —2y)

® 3(9ax* - 4ay?)

27ax? — 12ay* = 3a(9x2 = 4y2)
— 3a(3x + 2y) (3x — 2y)
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xX2—dx—-A=

® -36

B

@ -54 @36

@ 54

(x+5)(x-B) & 1525 Hrh. A-B 9| g& 513

® 64

X2 —4dx -

B=9
. A-B=

A

= (x+5)(x—B)
= x> - Bx+5x—5B
=x2+ (5-B)x-5B

5—B=-4,5B=A
A =145
45-9=36
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0<a<1 e, /(1-ap - /la-1)? 2 1] 5HH?

@o @ 2 ® 2a-2

@ 2a+2 ® —2a+2

0<a<l19B=24-1<0,1-a>0

VI-ap - /(a-1)? = (1-a) - {-(a- D}
=l-a+a-1=0
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® 3v6

~&B

X+y=

«/§+«/§+\/_—«/§:2\/§:\/§

_ 3+ V2-(V3-V2) 2«/_

2
)

2

Ly -y) = VBx V2= ‘/_




13. 4x®+ax+16= (bx+c)* oM a+b+c 9 322 (T, b>0, ¢ <0)

® -7 @ -10 ® -12 @ -15 @—18

4% 4 ax +16 = (2x - 4)° 0|22
a=-16,b=2,c=—-4
“a+b+c=-16+2-4=-18




14. x of BRF o124 (x - a+2)(x + 5 - 2a) 7F LAAFA o] =7] 915
a ° F& ot

® -3 @ -1 @1 @ 2 ®)3

—a+2=5-2a
La=3




15. ©o]ZHA] 9x% - 12x +a & SAAFA &2 VAW (3x—-b)? |}, o],

a—-2b 9] = FsHd?

®4 @-2 @ @ 2 ® 4

9x2 —12x+a= (3x)2-2-3x-2+22 = (3x-2)2
Wt o= 4, b =2 olck.
La—-2b=4-2x2=0




